775

BIFE / Product Number

AUX - -

H~i%

H dimension W dimension

F view
W~Ti%k D~Ti&

D dimension

BT =hJ)LT—74 / Technical Datall

#B{ThILY / Recommended torque : 0.3N=m ~ 0.6N*m

A

TILZRE

Aluminium Feet

EHE X{L#k / Original trapezoid head screw specification

EX P /H)

Screw (P or H)

(AR e

Color Type

HERLAZA / Components
No. 2 %5 / Part name #E / Pcs #'&E / Material - RmEME / Color+Finish
' a—+—Javy 4 TILEF A Fv X+ ADC12 DIVIN— TS - B (RERRLE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 Btk 4 TIVSIRHIA A6063S-T5 DIWIN— TV - TILIA RO THE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
s Hin— : 7 JLZHR A1100P DIWIR—, TTZ9Y-TILIAh
Top cover Aluminium A1100P Silver , Black* Anodized
4 Thi— ’ 7 ILZHR A1100P DIN— , TZ9T-TILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 TILZRE 4 FILZ & PYard L DIWIN— TS FILIA & TIVY
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 ER{FE R (M3 x 8) 1 &% ZYTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
; B{ER (E#M3 x 5) g &% ZurIL Ay R OA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 BAER (/812 KM4 x 8) 4 oS =fEE/AA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

E‘ 752 / Phillips 75 f / Hexagon—socket
1tk / Color Type
i85 / Code 3—7F—7 0% / Corner block {BI#R / Frame $H/3— / Top cover | T#/3— / Bottom cover | ZJLZRE / Aluminium feet
S S < JLsN— / Silver 2 JLsN— / Silver < JLsN— / Silver < )LsS— / Silver < )Ls\— / Silver
S B 7594 / Black < )Lsx— / Silver < )Ls3— / Silver < )Lsx— / Silver < )LsS— / Silver
B X J5v% / Black 75974 / Black L )LIR— / Silver 2 )LsR— / Silver 2 JLsR— / Silver
B B 7594 / Black 7594 / Black 7594 / Black 7594 / Black 75974 / Black

a4/ Title
TAKACHI| #R2itahFEMT S FILSaURO— LY R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
AR/ Approved 1% X]/Checked #1[X/Created FIF /Product number RFE/Scale
iR ¥ Rk AUX115-30-30A0O-O01 pg— v

1ERK B /Date

2025/06/10

1/ 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




293

B-B(1:5)

D view

300+0.5

10.5 115=*+0.3

108

B view

E view

30005

l=— O

A-A(1:5)

293

C view

F view

253

253

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
F7ILEarka—)LARyI R
ALUMINIUM CONTROL BOX

O]
YL

7 5%/ Approved

iR

1% X]/Checked

T

#1[X/Created

fi] A

FIF /Product number

AUX115-30-30A01-0101

RE/Scale
1:5

YER B /Date 2025/06/10

R—/Page

2 /6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A ¥ / A Frame
250 225

« .
— o
25

==
<
T~ L2\ /M

[\ 2/ /]

5 2-M3FHS7R 5

2-M3 Countersunk

%1 / Front side ¥ RxIEELFEHR / Same on the other side.

B {Al#R / B Frame

7o)
N
Q

3R / Front side

3.3

3.3

ZZM / Back side

ZZ M / Back side

mf/Title
TAKACHI] #R&iahFEHIE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
72/ Approved 1% X /Checked #[X]/Created #IZ% /Product number RE/Scale
1:2
Pl : e o
H115 - W300 e B /Date 2025/07/03 3/ 6

AREDECEIHRXSHIDTFER T ZITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥k / C Frame

114

14

3R / Front side

250 22.5

~
~
S
25
\-"‘|_':r-a
==
/73 L7\
4/ \\//]
2-M3FHS7R 5

2-M3 Countersunk
¥ RxIEEHLFEFHR / Same on the other side.

D {81#% / D Frame

3R / Front side

7o)
N
Q

3.3

3.3

ZZM / Back side

ZZ M / Back side

mf/Title
TAKACHI] #R&iahFEHIE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
72/ Approved 1% X /Checked #[X]/Created #IZ% /Product number RE/Scale
1:2
chiR : e e
H115 - D300 e B /Date 2025/07/03 4 / 6

AREADECEIHRXSHINTFERTEIZREBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

289.4

@ / Front side

270

289.4

270

PAN

<

194

s

B#~TiE / Max dim. 253+05

4-245

E#~ti% / Max dim. 253+05

fREES—HMA

Surface protective film side

ZEM / Back side

194

4/ Title
TAKACHI| BASHIAFEHRIX HN— @} C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
B3] v S 1 RF;‘/Scale
K 5B/ Approved 1 [X]/Checked #1[X]/Created R /Product number
1:3
iR £ 4t R—/Page
W300 - D300 {ERX B /Date 2022/11/16 5/ 6

AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




289.4

270

241.4

4-245

4-R14.7
75

< o 0«

& N F
\O

o
(2]

o
\I//

fREES—HA

Surface protective film side

A#h~ti% / Max dim. 253+0.5

o~
L]

oY

@ / Front side

B#TiE / Max dim. 253+05

4-M4

ZEM / Back side

o
(2]

o)

=/

oY

N

4/ Title
- A - .
TAKACHI| BASHIAFEHRIX THhin— @} C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover

B/ Approved X /Checked #HIX]/Created R /Product number RE/Scale

1:3
iR £ 4t R—/Page
W300 - D300 {ERX B /Date 2022/11/16 6 / 6

AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	AUX115-30-30A□-□□.pdf
	AU115-300A.pdf
	シートとビュー
	AU□ 115-モデル


	AU115-300C.pdf
	シートとビュー
	AU□ 115-モデル


	AUX115-30-30A□-□□

